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c) Ubib +Breyrm D) uyp + pren + BIDI

2 UJTﬂUGumrL._ s16im Olencvedlen GLblpndsLDd eTesTenr ?
A) SGH8I® B) euysfFL®
S eEe D) upmIEfL®

AL B) urrg@g)narm
C) !’5”113556%13 sail@p D) eunenflgnasst

4. @&qus @@Gmfﬁﬂ&}ﬂﬂm ‘CUITDHSALD 615/ ?
A) Gampn ¥ B) unegwismevid
C) LIGYGURUIT STeuLD D) Gaoi smevib

9. ‘BLiipagBer Gaurr aveis’ starls Lmgm 1) Quppeud w0
A) ung@grwm B) swbusnset
: " D) wprgwosesr

B. smb @Quipslw @i &8 @d SibLi @)L Gluwi 6151 9
A) @ snaluib B) 6Smu5an_esu:,
C) ml’:ﬂgﬂrd} ’. _\_.-_ =2

B) Gﬁgmrr@cvﬂeurr

C) g@mar Ga;ggnu;&s errrmh@:ﬂmnﬁ D) sevwewrg naei

8. ‘Alwu ey’ e‘rmmm&pg,&uu@umn qurrr 7?2
A) s@pLa B) =

C) afL_ewrew - D) @gn

9. @g@!g@g;rrsznﬁ 6T GMILII L LILBID Hrev 615 9

g b) upprenm
C) @3!91!5@5”5575 D) wfum ey
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id organ which bacomaos atrophy aftor pubarty,

B) Spleen G) Lymphnode D) Poyor's paichgg

LI BRIL0ENL LTS 1‘3}.,:;@ SN paraled mﬂpfh,,@,h iﬁwl;ﬂfl o mtemi tﬁ.#gf.f}[m‘)g)@

? A) avingen B) 1nedvenlirad C) Mawnfitaprg o L) Lt G,
12, Che nobyl Nuclear disaster occurred in
A) Bhopal [3) Jupnn l)) Iran
Sl e L SN AL g et @onp @ 0
A) Guimrmen B) m,'“ b C) gewur D) rpmn

13, Most of the alilftunl pn(:umkom run on

<A) Lithium batter B) Aluminium battorios

C) Alkaline bmlones D) Nickel ion batleries

SR DL TSN LD W T 6N @mu‘:f)oaw. GrravGindaniaallod I RO AR TI R T T
QANS

A) OFRund G’ _Maeir B) .o@nfesfluni @i Menair

* . * = - . - L . 1] . T e
C) sngadgerenn amdips S’ Mae D) !mg;.g;,uv‘_mnmmﬂ(u:u 1 fleneir

14. The locomotary organ of earthworm is

A) Flagellum B) Cilia D) Penial setae

&Ry SR @)1 1CLIu1TER o myiL oight ?
A) saFudenip B) @mnlenev
@) o1 s megpt’ Feir D) 1faluied &1 n

15. The sex anomaly in man who has only 45 chromosomes in each body cell

\) : drome B) Klinefelter syndrome
C) Super female D) Super male

ioaflgefsr o1 Qasvadled 45 &CurnQronGambeaenL ot snewsriti(Gith LIMGD

Qars@

A) Liarfargan s C@Qaelliur® B) Heaerare®sGuehi_i@emen .6 GaralliLin@

C) o uMiiueiry Guewrsen D) 2 ufliisesiy gy, emaser

16. The vasopressin hormone deficiency leads to
A) Diabetes mellitus B) Tetany
C) Myxoedema D) S

aunGevniravedesr ammiGionear gamalanned Canammd Gpmul
A) Lwrineev Quevedev B) @it 1 _aof

C) aedigiom B) e _wnQiieev @G‘&I@Lﬂl_ﬁfu
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' gh??gzé:e duration of ‘P’ wave in E.C.G. ?

B) 1.1 secs C) 1.2 secs
mﬂ'ﬁ’w@&mu@u& Cung 'P' yanevuflesr &nevpend|
e Sewmg B) 1.1 adewrnmg €) 1.2 aflewrmy
18. The antivirg] gry iven for AIDS is
A) Ampiciljin _;__2-9

D) 0.1 arlent/ty.

B) Anthromycin
D) Interferon

. "Tﬁll"'fi Gﬁm&@ ClsnRSSLILIELD ),6T19.60 TG L0 bSI 611 7
A) BN R i B) w58 Gunenindles
G &aGLﬁmgf_&qGﬁr B') @c;&n__ e @ rresr

Which instrument is used to measure blood pressure in man ?
C) Haemocytomeier D) Manometer

weflgefe Q188 S wsssms sev_flu 2 Ba1b H(mall 615 ?
A) By CuonQGermiBi i B) vimombB i
C) ,Gi_ﬂ?@mnsmm;@t_m.&;:__ri D) wnGermibe’ it

; 19,

20. For the first timein In

dependence India a non-congress ministry was formed under
the leadership of

A) V. P. Singh B) Narasimha Rao

C) Morariji Desaij D) A.B. Vajpayee

&S5 80 Q@)% B wnader SMRIG gav s UPHEV I IDFT TG QG () & GHGY G LD
apDeurt

B) mudibis gira
) Gl 18! Gxemu D) &r.19. aunghuimi
21. The Widow Remarriage Act was passed in the year
BY 1052

T~y
C) @
: A%

A) 1846 -B) 1856 C) 1870 D) 1891
ailgemeusar LomoenT L _1_th Blenn Caumm i 94,657 (B)
A) 1846 B) 1856 C) 1870 B) 1891

~22. What is the minimum age of woman for marriage according to Saradha Act of 1930 2
A) 10 B) 12 Gy 1475 D) 18
1930 g1 ® smrgn 1Ly OLisinsess o Geopis L o B 106wt Quwigy e15 o
A) 10 B) 12 C) 14 D) 18 ‘

23. Who constructed the Thar Road with hard surface in England ?
A) John Ka) B) James Watt
) John Macada D) Elias Howe
QERwrp@e ClaL g wrer Gumurys Qamedm_ SN Franevenyy
A) soneir Gs : B) Gagibev aum_
._: €) goneir Qo&HTL LD D) ereluneiy GamnGey,

DADIDG L0 Wi o
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24. In whlch year Rorhe-Berlin-Tokyo Axis was formed ?

B) 1937 C) 1935

25.

26.

7.

28.

29.

30.

.. Gamb-@uﬁaﬂcir—(h_né;@Gm PR E RO

'C) Seplembar =5

A) 1936 B) 1937 C) 1935

e Earth on

The sun appears to be the closest to th
) Janua ¥, B) July — 4

@&Mwer yalld g s @& srawtLIL@LD BTET
A) gerauil —3

C) Qeltbuii—5
Who postulated the continental drift theory ?

A) Kober B) Holmes C) Taylor

ST paiay Q& TeTenseni QeueRuf_L_cum
A) Gamuit B) Gammevibenw C) ewr_cvi

A winding curve or bend in a river is called —

A) Ox-bow lake B) Flood plain

19 29

D) December —

B) go@® =~ 4
D) aoui—4

D) 1938
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D) 1938

D) Qeusesi

D) Levees

24DpBleT suamenay pmitd Clpelay GTEURUTM) g;mg)asasuu@@rrpgj ?

A) 6BLG 2

C) whwnmessre_iv

The first Earth Day was celebrated in

B) Qaueirers gobleuad]
D) s wpenessr

A) United Kingdom /B) United States "’
C) lIsrael D) Slerra Leone

s yail prer Qe resrm_Lit pr®
A es&I 305

C) @avGrev D) Swngm eSGuwimesr

Jhum cultivation is practised in which state of India ?

A) Tamil Nadu B) Odisha C) Kerala

B) <Glofds gs&u BI(B&ET

o1b sn@ LI @B wrelley a15s LomFlvs Sl BeOL_(Lpem DUV 2 TeTS!
D) syemb

A) slpBI® B) qu&r C) Gagarm

Economic Growth is measured in terms of

A) Population Growth B) Human Development Index
C) Gross National Happiness /D)-Real National Income

Qunmemsrreueniss 6156 g LiLianL ey a;maﬂl_uu@@mg{ ?

A) wéser Qgnend aueTiss
C) CuonssGsPw &Lpss

NG

B) weflg cuerié®s gpui®
D) e awenowinesr Gs&w QU(HLOTGHLD
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B) Demotion
T6irLI) B Bp e Heb oeryfluii BlepeoiiLit

C) @ tonpptd

O s
PG 5514 () :
A peiawie B) uped @piwne

-M-m“"."‘m-
Controllar

FLUBTGLD.

~ B) Organiser
————___ ateeuit ompyeuisemar aufl s g5 Glacvais
LG8 Bi_ggieui

violated, allow the in
A) Liability B

@) B, GGuTLD

C) Goods and services

@) Gungs ser wmHmib Coamal

35. A Judﬂs

o wit Gwem FHUS

/36. If the earth stops rotating, the value of *

'C) Remain same
e plapiail-Lmab, flovpBaGam G LigGH e 'g’ & By

A) @ ELIEGLD
C) wapmoadéGL

Google Play
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—— . isan upward movement of an employe®@ #

D) Training

C) Transfer

is ﬁﬁﬂ.wﬁ.ﬁ Quidas and directs other people.

119,681 G5 8- WD

)] LuHH)

C) Sub-ordinate ) 0

Lt G ITaHT-
11GB1 @)@ 1D Glaur®

B) wyentoriLsmerni
R) semevaurt

a
is a promise (or) set of promises that are legally enforceable
ccess to legal remedies.

D) Evidence

C) Record

R GTGUTLIG) &1L L JIQULDITE DI LOGVLI(D) bl Tn 19.US Qs @M H6N i
UNSSDYSB 6T LEDLIILL_T6D STUIHDI_fhgh HL 7 Tt 1 FRuNGNGHT ) §o)dn V5T
NS 2591055 @1b.
A) oi_crn()

B) elnipgsih
D) @ysnomaser

is an activity or benefit that one party can offer to another that is
essentially in tangible in nature.

A) Product /B) Service’

D) None of the above

aTairLg) Gl m_ QemanupLg.wing QawedLin® DIGO6VS! FETENLD Gp(HaUIT
LMD QU (155 ML ILIS TG LD.
A) afemenGlLimmer

B) wiqpgiimigged Gaenai
D) @&s6b srguaytd @evamev

of the High Court shall hold Office until the age of

C) 65
QUUIGY UG T LIGET) @G LI
C) 65

g at the equator will
B) Decrease
D) Become zero

B) g@muib
D) s fwn@eG b
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bomb is based on the principle of
7. Hydrogen s C) Radio activity D) lonisation

& A) Nuclear fission SIRNEEIS

G631 (& GUOTLY. GIT BHGIOID

@amt U2 "
) i g5 L9GTED6 B) SIgmiss® GoaTay
A) HigsEB ! D) _ojuaflwndsLb

C) m@:ﬂwé&&uh .
38. The normal temperature of the human body |no°F and9804LsC
" A) 100°F and 38°C B) 37; ang e
C) 98.4°F and 37°C D) 90°F an

o i A ail mﬁvoFm!ﬁ@ijOCGb ‘ 3
U R gg%oc ot uﬁ B) 370F LD'IﬁQJLD 98.4 C

owing as the temperature increases, the conductivity also increases ?
onductors

A) Insulators D,
C) Super conductors i
& i85 (& LD Cungl AS &1_gg 5 mesT

QQ&G@TL_E&J.@Q{G?T 6T 60 @ & liLiflen 6w <25
PslsSHetng ?

A) Blasrat_ggm GlLIm L GG B) sL gD 56T .

Q) BhsL_GFEET D) gL S s6T
40. URSA MAJOR is a

A) Comet B) Galaxy

oyism GLoggr’ GIGTLI)

A) auned adlessride

C) pL 55P06 Fnt LD

) Planet

B) alemubenr Grigeni_
D) Gsmer

41. The field of view maximum for

Al Convexymifror:

Convex mirror B) Concave mirror
C) Plane mirror D) Convex lens

unten L] LjeLh B HLOMS @) LIS

h @all g9 B) @y <1 C) gwwspen g D) @ai Qeveiran

42. Which one of the elements is extremely toxic ?

A) Aluminium B) Gallium C) Th D) Indium
Baoyih paasHe1e010 QUMUIHE SELOLD
A) aahlaflun  B) Gsellusbd C) smedwib D) @ewmguwid

43. Which one of the following compound is used for preventing dental cavities ?
B) SF, C) UF, D) NaF

Bipasin_ a1 Gaiotd up@Gflenw FfCleuwL uweTU PGS LILGSDS!

A CaF, B) SF, C) UF, D) NaF
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Bordeaiu misture is copper sulphate solution mixed with :

- Potassium hydroxide B) Sodium hydroxide '

©) Caltitm nyar, ide D) Magnesium hydroxide gD
GQE&L‘"&“V“-’ SBGUGU}& ZG&TLJQ; 76 QaFopLD STLILIT FeoGUL_HLD 5'5}’!-".?5 FED

X QUHC‘L—”@"J&) amamL_grseng(® B) Gemguitd Gms_w_fr)LlD'fféﬁmfiF@

©) G AL J1EF ) D) Qusaf@uiLb m@_rDlLU!T&WE@

45. The catalyst yseq in the manufacture of polythene is

A-) n B) Vanadium pentoxide

-} T1anium tefrachloride # D) Molybdenum
unﬁﬂg’gsﬁéﬁwmﬂéaﬂ vwerL (b afleneTy,ss) 615 ?
A) @by B) QeuGangwib Quar_mE@F®)

C) @ nafluns Qi prgGermeni® P) wredli g.amb

}6- Sodium benzoate is used as
A) Sweetening agent B) Antioxidant
~ I e e
eservative / D) Inhibitor

Gamg wiih O et GanGuiL’ 1g.68 LILIGH
A) @ellyssemany B) e1®it 5P 2Geanp)
C) e ewey ungisniune D) s@®lumes
ﬁ?. Hair and nail consists of
A) Cellulose B) Fat ) K D) Lipid
(Pl LoPMILD BSHmIselew o_drer Geu® 1IGLInm 6T
A) GeevgyGevran B) Gsmupliy S) Qapr’gasr D) &S 9

48. The compound used as hypnotic under the name “hypnone” is

A) Acetone /B) Acetophenone

C) Benzophenone D) Formaldehyde

‘an) Ligwrmesr’ eTgyLh GlLiw ey Bermau@w w@EsnaL Lwer @b GarwLb
A) 9@ Crnar B) 98 CLm%Casrmest

Q) 6 16T BFTLLTCGvrrraT D) obumimeig eam @

49. Oil of winte IS

A Methyl s e B) Acetic acid

C) Phenol D) Acetone

‘Seir_ it @feir aTenTolawTil GTGHTLIZ)

A) QB Frel@GevL B) /91198 9pfleuib

C) oooﬁmnsb D) @;QI;GI_HG&I'
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51.

52.

50.

in cold countries ethylene glycol is added to water in the radiators of Cars qunng
winters. It results in

A) Lowering of boiling point
) Reducing specific heat

B) Reducing viscosity

@i GrBsanisei o_srar srisafley By Gui_ L’ Bif 2-TUTORD &F\dg; o1 P
Renenssne, GeissiL@SDI S (b flaor
B) un@iﬁmmmmé, & DES

A) QsrdBlercvenwd GODES
D) g_m@gﬁm@vmwé GODES

C) Auww Qaiiugas GONSS

ire water B) Water and mineral salts

b) Water and enzymes D) All the above

B aug sedler Guing 2 (BOUAEGLD HTaULD
B) @i wpmib sesflo o Liysen Caiih 51

A) gnw Bi
C) i wppitb QrEser Geib53! B) Gupspu STSSID
Choose the correct answer :
Elements Functions
a. Molybdenum 1. Chlorophyll
b. Zinc 2. Methionine
c. Magnesium 3. Auxin
d. Sulphur 4. Nitrogenase
d-2 B)a-2,b-1,c-3,d-4
a4z a5 Pja-4,b-2,c-1,d -3
shwnemaupenpLs CILITBGSSIS |
gaflioriser Liewfl&er
a. LomeSlLLg.GuTLD 1. udeFwIb v
b. sIBSHEIHD 2. Qg Guinasfa
c. GQuaeatFwLd 3. P
d. gevoouim 4. e GyrnadlGawen
A)a—1,b-—3,C—4.d—2 B)a-2,b-1,¢c-3,d-4

Wil O
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G) e, D) Flemming

g
f) grm mn@;emm eTain Glweny B pSHLILBSB W
C) e B) eumcvent_wit
LITe019ys e B) ohfembili

4. Lt
5 Sk paper is obtained from which Lichen ?
_____ el / B) Cladonia rangiferina

C) Foli
) Foliose lichen D) Crustose lichen

ﬁgwmv B6T 6155 evevssahey @) g QUDLILGS DS
BFFVVT Loresr QL nResf) B) GaewGLnafluim graTdli QuGrasflum

C) GU”G‘S)@umav GV GIT D) &dev GL_mev eevdsseT

55. Identify the Archaebacterium.
AJ Acetobactor B) Erwinia
C) Treponema sacterium

1_9?6576)}({5?116676)1‘{13@6?7 TG TSR Lné e fuiLh
A) o8 C_nung_i B) erraflesiwum
C) wiiGunaflon D) Qg Barmunsgie b

56. Urea blosynthes:s takes place in
A) Kidney 3) Liver C) Blood D) Pancreas
w2 @meum@b @)L b

] C) @ussLb D) senemrwid

A) Smbostb B) seveSgev

57. Which is the permanent method of birth control in female ?
A) Copper T B) Hormonal method
C) Vasectomy )-Tubectom!

O L1 6o5T S @S TEST AenauITaT SBmSSL (P 18] ?
B) apmiGneripeom

A) smourT
C) oungsL_ b D) 1guQudi_ih
58. Name the substance that stops mitosis at metaphase.
) Endonuclease B) Transcriptase C) Ligase

6l Qe iNsaler Gung Caaseamar pH B SLL ST FIniss eaids

@LDL L

a-ajwmjgi . s . .

A erevmrGL-T ByydeflGuev B) wonamen@AUGL e
D) srav@Qar

C) eaGaav
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S heat 20 times more than that of the carbon-di-okid

Google PI
_ oogle Play
B) Ammonia C) CFC D) Nitrou e%

: ‘h_m;__—‘:%&m&sml_. all_20 LDL_Eig, 9B & 1015 Cleul1Lges OETAT Qﬂinsir@j,lb

;:;”’:‘55(355@1 B) oubGuomasflwm
o) cFC . ) el ogev g dama®
&6, THE @ﬁjgof jodine n% thyrgxine
j 0% ) 65% C) 110% D) 55%
e égﬁ;a@mﬂ@ 2 orer 9 Guimg eir 55095 1D
p) 70% B) 65% C) 110% D) 55%

61. EnedY currency of cell is

A) AMP /By ATP @ C) NADH, D) NADPH,
@5@65]551 SLDDEV [BIGRIWILD GTGHTLIG)
A) AMP B) ATP ) NADH, D) NADPH,

62, Thetype Of phyllotaxy found in calotropis is
A) Alternate B) Oppos
C) Opposite superposed D) Ternat

= o

RG] Q#9060 STERTLILIHILD @)V 3 eHLOGY

A) wippluileneowenLoay

B) a@ @@ LI -GDISS LOMIS G

ef afi @ewwawe)- @G QLINg:Hev Y LDBHSE R
D) apafleneuiientos

63. Lateral roots originate from

A) Rhizodermis  B) Endodermis C) Pericycle D) Cortex
uss Geuriaseir @)oummladlbb3! GgramHemer '
A) egGanGlriLblew B) 65Gsmev
C) Qullsanss@er D) ympewfl
64. The vitamin essential for blood clotting is
Ak B) D C) A D) E
Qss i 2 NG G565 61 LI TGS a9l L_Lblesr 615 ?
A) K "7 B)D A€) A D) E
65. Long sight can be corrected by using
A) Concav B) Convex lens

. voncave fen
Biconcave I‘é?wz

-@!Hljunﬁmmjmw FAQFUIL U!L!G&?U@é’g’[:’u@"b @GUG?TG‘{U 618l ?

C) @@@b&w Qeveirer . D) sLemLwmer Gleveran

D) Flattened lens
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g havanandm ) Buddhmitra C) PUQ"and' .
4 n?gG‘a: mBus ST Er)rﬂturr y oL L &GS
7 A) “mrs.r&@m HWMB%” L:%%ﬁﬂan C) ysGys® D) B
A) Khamboja ing @  C) Champa D) Annam
FLOS T 5 .
36’5’6!9@1:@ @f@ My C) sibuim D) yaireuiLh

A) an ’-DGunggm B) wfaflguwid

68. The commander of the South Indian expedition under Alauddin Kh
B) Qutbudin Aibak

A) Alauddln K
Malik hml D) Jalaluddin Khilji

ilji

Gr G TS

JJW"Q{@W @Gugj? srwg e Clgaerelss w v QuALUYES

RGBS _

A) élﬁv!rcq@m Slavgl) B) @guB e @6lus

CY wnedls g1 y7 D) spevnayBeir Haved
69. The original name of Shahjahan was

A) Salim " T,

C) Dara Shikoh D) Farid

apr1esmesflair @) um 6w

A) #6Sib B) @rod

C) smonaflsCsm D) uds
70. The first railway in the world was opened in 1825 in

A) Russia C) America D) ltaly

2 WG (Lpg 6D yuﬂsvurrmg 1825 gy1b e () Glgm_misLiii’ 1 gy

A) paywm B) @r&@enig  C) oQuwidar B) @ssmald
71. The longest rift valley in the world is

B) The African rift valley

A The Narmada nft valley
C) The Baikal rift val D) The Rhine rift valley

s_ow&er 1H& har e Lenay1L16Tens s nd s,
A) mBiwgT LeTa ) LUGTNSS 1 S B) %urﬂaau L‘ﬂsrm;u ummg.g,ms@

€ ewussne LeTayLl LIGTNSSTEE D) ewgesr thenayis LIGTaTS ST @

Which of the following is the chemical weathering process ?
A Exfohat'on B) Frost wedging
D) Thermal expansion

72.

Lﬂmm@mmajpgﬂsv a18) CouBuiweh Oengay 9
A) ugiiy afiflesy B) s.anmuiaf o L LIy
C) smiuGarmmpLd D) Geyiu aflfleuen_gev
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—+ oMl ing was carried o ; .
i ut at ;
v Aeﬂfﬂ:’}e at first with balloons in

C) 1860 D
A) : ) 1862
_mb@uma;uu:_w ST(h & @HLb tpasm :
;‘:JJtp[b B) 1 @6m@§m9wUt@ﬂm@pmm%mﬂmﬁaum_p
;)3556 o 858 e) 1860 D) 1862
indd> contribution 10 global biodiversity is
74. In¢", ~B) 8%:
nee C) 10% D) 12%
e adlay o UL umemom uflev @) 5@ urraler WILIER WD
2 6% B) 8% C) 10% D) 12%
~ct Tiger was launched in the ye
orect year
75 3 1970 B) 1971 C) 1972
g*;“”mﬂw Lyedl&6T STULISD D1 _1b TS LILL L 2,605
X 1970 B) 1971 €) 1972 D) 1973

Muppandal in Tamil Nadu is known for

76.
E—_ B) Nuclear Energy
c Solar Energy D) Hydel Power Plant
;:Eféif‘m;"%b o_aiTen (LPLILIBHE 6TeD @)L Lb 18U LNTFSH L Cluppg: ?
A STDDTEDR SLDDGD B) iemmiibles gmmav
C 5MWwesH DO D) Qoutiu g mmev

77. Inlndia 14 Banks Nationalised in the year
4) 1935 ‘B) 1969 C) 1956 D) 1959
Gi5wnalley 14 eumISSET 61b5 gy emrg.eb GCa&lwow LDT&SLILIL L 6T ?
A) 1935 B) 1969 C) 1956 D) 1959

78. Noretary policy is controlled by
B) State Government

D) Private Sector

Lnri Qg rsirenseni LU BHSSINS]
?H:TS@HJ@;U& B) wmiflev e
| @ aumiG) D) getusmi gleop

79. Tre compulsory charge levied by the Government is

A) Licence fees B) Gifts and grants

C] LOan
M ensy aNBSH I HLD HL 11 B L_GRTLD GTGSTLIG) ;
65U @1lg Db &L LT g
" Sfsnnod) B) Qeu@wd wopmid LpmestiutLD
C B g By e
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80. Th
e father of New Economics is nes
@ @ ¥ B) Marshall C) Karl Marx D) ¢ M. Key
;!) :;; 1 urr@mrwng@@mny,r;ng G1avTM)| rg;smgpaﬁauu@umm P Siron
“'n%lﬁg B) wniapey C) amyav LGV D) J. M.

81. Whic
& CO““*"Y follows the Presidential form of Government d
o . d D) Sw:izerlaﬂ

A) |
} India B) England \eric

ST ‘%SHLL@W SEGUAIT (LPEND B IFTMIFLD QurwcvLIBHF DS ? . ;5

Bl Bf @m@wmig  C) SGuolsen D) aafl-ae

82. ;vn:n one of the following tax is not collected by the Corporation ?

C) ntertainment tax B) Taxes on vehicles

) Property tax on lands D) Income tax

Werarmaietabics eris ol ompan Puns aigyedésts LGB ?

A) Caallgans, auf B) aunges aufl

C) Bleveur D) eu@Lonaur curl

83. L:bera{:sed economy was introduced in India in the year

B) 2002 C) 1985 D) 1996
ST LOWLDTEHGS60 @)pBwralley c1b5 2,6 Clemess () Qi L gl ?
K) 1991 B) 2002 C) 1985 D) 1996

84. Panchayat Raj was inaugurated on October 2“‘"| 1959 by

A) Lal Bahadur Sasti B}
C) Ashok Mehta
uEsFmwsgl g2 1959 1D T (B &CLTUT BEISET 2 QYLD HTETGTD
aSlerrey GI6USH USSHLILI L&)
A) s FTavSil

€) 2Gans Gogsm

D) indira Gandhi

B) geuamieney Gpp
D) @@ snss

85. The political head of the Corporation is

A) The Commissioner
C) Councillor

wompagm. Gl P wed FRWNET Sl
A) %@ng B) &ymo Bliains oeveuevri
CY o Denn D) Guowt

B) Village Administrative Officer
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gravitatipnal constant (G) is

89.

90.

g1.

g2

93.

ito
. ————B) Nmkg~ SPERREP D) Nmkgo

87.

88.

GET IT ON
Google Play

agititl el G it S.l. e,
H)mi\;gq"' B) Nmkg- C) Nm?kg D) Nm?kg™
THS colour of light emitted by Ruby LASER is
A) Green C) White D) Yellow
l[;(ﬂuby) Gaver Sl g Qonefliiu @b gefufler Flpib
A) [ pand B) Maiy C) @Qausraner D) wepeair
ngm photon has

Ay Enetgy but zera rest mass B) Both rest mass and energy

c)'Hest mass but zero enr]gy D) None of these

ﬂg.,(”um OIS INTNET
A) p;manrm LODMItD F1f) pu'iay Blanm B) auiey Bleonm LopmILd DD 6Y

@) @mw plenm Lommyth 9L,MMD GV T D) @aweu GTGILD @V

If the focal length of a concave lens is 4 metre, its power is

A) +0.25D ‘B). C) +0.4D D) -04D
S0 GYCwaTHew @@"Jﬁéﬂmo 4 18 erasfled GleveiT@ e )6

Ay +025D B) -0.25D C) +04D D) -04D
One calorie =

A) 4.186 J B) 1000 J C) 3.6 x10%J D) 107J
@@ &;Gsvrrrﬂ rmsrugu

B) 1000 gr9sb C) 3.6 x 10°»w9sD) 107 g®av

nght from the sun takes to reach the earth.

A) 8 minutes 20 secondsy B) 10 minutes

C) 4 minutes D) 5 minutes 20 seconds
@M el Lallenw cubgent_w @b GrILb
A) 8 Bifl_1b 20 allestmig. B) 10 Afl_ib

C) 4 dudi_1b D) 5 gufli_1b 20 aawrmig
Base number of Hexa demmal number system is
A) 10 3 C) 8 D) 2
Qlamdgm G)t__@wa;v GTasIT G'iaf.nr@r 19ed (Number system) oy 1ent_ eresar
A) 10 B) 16 C) 8 D) 2
One tesla =

A) Ampere-metre?
C) Ampere-turn metre™’

P O_svem GTGTLIG]

A) opb Qw8 B) Qeuwst
€] b Qwsr-ammr b i D) Qarsi 8 52
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95.

96.

01 Qne Astrenam!cal Unft (AU) is

A) 9.467 X 10"% m - B) 9.467 x 10 m
D) 3x10%m

PO Qesfly, e & (AU) wH iy

A) 9 467 X 1015 B) 9-467 % 1012 m

€) 1496 x 101 D) 3x 10°m

When 0"9 Qram of mass is fully converted into energy, its value is

ALY ) 9x10vy C)3x108J D) 9x10°J

20 @g b Blew muyiren QuITgenTans) (LpupeusLos oPDEVNS LOTHDL] L@EDI ey
DS T w@uu

A) 9% 10 g96) B) 9x 109 o C) 3x 10° gyos B) 9 x 10 e

The fuel used in nuclear power plant is
A) U-232 =235 C) Pu-238 D) Fe-59

ASULBGT 2_amevuich uwmu@gg,uu@m MG Limmer wing 9

A) U-232 B) U-235 €) Pu—238 D) Fe —59
97. Name the alloy used in Cigarette lighters.
B) CaO,
C) Magnesium alloy D) Pyrophoric alloy
FlsCly. upmeneuiunelsh LWSTLGSSLILIG D 2 Barsd Sewanal
A) ey 2 Cavrsid B) CaO,
CJ GugafPuwib 2 Govnss sevenas D) euGrnGunis o Govrss sewenay

98.

g9,

The most penetrating radiations are
A) a-rays B) B-rays
D) All are equally penetrating

255 2ar(H)(FAYLD SETLOWEHL_ WL FFT
A) a-a@ir
B) B-s@i
C) y-85t .
D) yanesgiLd 10 290 () B6YLD FETLOU|aD L_1sGoT
The pH scale which is used to find hydrogen ion concentration was intro
A) Henderson  (B)NSOIENSan C) Debye D) Hucke]
aami 786 Gg;u_.'srﬂuﬁ?sur G?arrﬂ?mmas sew_pluls LweTu@w pH SIomad ey 5

! Lo
Wpepu@SPUT
A Qapeinioet B) Gamgeinsi  C) gl D) gpinc

duced by
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100. The compound found in stony deposits in kidney is

A) Potassium oxalate B) Oxalic a! e
T " o il -!.-y*:\lﬁ-{j_& .. --.

C) Potassium succinate D) “Ga

Amibrss He0alle) o sirar GouB LI GlLTHET . ‘

A) Qual i m&uwib 9y 55Geur’ B) c%a'safrmﬂ& &J@wm .

O Qur @b 559 Ceni" D) sme@uiLd g FeGaL
101. Compound used as an anaesthetic agentis o

A) Methanol Mﬁa

C) Phenol D) Anil

IDW&E DG HHTHLI LiusesTL(hid G&FmpLd .

By Quszeamed  B) eag@emsi C) oS LTGsTTaY D) yesflabair
102. Which one of the following reacts with glass ? _

A) Hydrogen iodide B) Hydrogen chloride

/C) Hydrogen fluoride / D) Hydrogen bromide

samemmiguy a7 aflen ey Goudd Gaioth

A) eant geer o GuneL_® Bf avani sggeir &GarTems()

C) eami gggai ooLjeaheni(h D) eamL Jges Ly Goreon®
103. Which element found cytochrome oxidase ?

A) lron B) Magnesium C) Zinc - D) Copper

el GL_m@Gomb 24, &eriGL_enilev saesLiL(h LD HesfioLb y

A) @uibLy B) OusatPuib €] g@issprsnd D) SmLOIgLD

104. Molecular formula for chlorophyll ‘b’.
A) C_H, O.N,Mg

r
3

54 70 P e sl ol Bt~ B
C) CssH?205N4Mg D) C,H:.0N Mg
Ligengwib D NG ppevdiagnm eumiiin()
A) 054”7005N4M9 B) CiH,,ON,Mg
C) CyH,,ON Mg Ly CgH,,.0N Mg

105. Age of a tree can be calculated by which branch ?

A) Dendroclimatology B) /Radio-carbon d:

C) Dendrochronology D) Forensic

R HTe1gSFET UIDS 2 miB QFuiuyib fley

A) wgssie Heneuilue B) s®Awass sMins srew sambE6
C) wraww@wad BY s_weSwe
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__106. Whic Ky iR
A) C:I “Mbers of algae are called Red algae ?
OTophyceae e B) Phaeophyceae
D) Cyanophyceae
e . . ol
A)mur(_; WBevgy TR gy psHLILIBILD LIT&&er 6Thg 6u & L1ew L FITTT LR
C) g TCyrenLf B) %QuGuneni§)
"L e D) eewGamenu®
107. Gi
E;v:i?amme for aggregate fruit.
s B) Oriyza D) Polyalthia
f)ff‘;;ﬂﬂf;@ STRSHIHTL B H(55
e B) @egen C) wewnuw D) wurelwmeGuim
108. va tyPe of inflorescences found in spike ?
) RACEHBSY  B) Cymose C) Mixed D) Special type
VLIS 6Trh; LoGhe M euanssen s FTBSS)
A) Q78 Guoney B) asGuomaiv L) sevliyy D) &y euens

108. Major site for the synthesis of lipids

A) Rough ER BISHESSREY cC) Centriole D) Lysosome

Camupliy 2 HuSS eiowib 155 Claeh b evrearyy 5L 96 ENSETT ST R B DG
A) QergQertiuner etesaGL mSerns euenevLleiTered

B) euqpeuqpliunes ereanGLmAenrs auanav Veirameh

C) Gserg MCwnev

D) @a@snGemb

110. Father of Taxonomy
A) Bentham and Hooker B) Charles Darwin

e s L1t 1gufledlen Shens w9
A) Quigth LODID A0 D5 B) emievai Lniefeir
C) unevJuwmenf D) sGureven SerGaruseny


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

